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TfoTd / Mathematics

qHg ;- 1 Hel quTieh - 50

Tavaess Taaor

39 Y¥-He SW e § HA 30 WA B YT Ho | W 20 9% wefomedld WA & Yow
9 & fog 1 i fuifE 21 el % S & fou < ok 753 e weh 9 T ud fawe
feram 21 393 feramn o1 fawey w fam oo afsfa 2

99T Ho 21 ¥ 30 T oY ITNG WA © ST S Hafud yvH @ A &3 ™ e ¥ sifed

F B IW T & forw Fuifd 9w w1 oam W@ 9 vSE g # fa 3 i B S

W #HE % fau Yfaa & oiq 7 fFAfde wm &1 & syam +1) w9f 98 ™ 519 w5 afdg 2

l.

72 GEII 1 a5 9 fREom B E fRa gsasEl w1 999 6 fRemm g ]
(A) 48 (B) 46 (C) 44 (D) 42

The weight of 72 books is 9 kg. How many such books have weight 6 kg?

(A) 48 (B) 46 (C) 44 (D) 42
TH ®R 3 He H 165 FHeiet gt 7 i 217 fhel [ A 440 Foreiier 91 g0 @1 won? o
(A) 4 = (B) 6 921 (C) 8 Ha (D) 10 =

A car travels 165 km in 3 hours. How long will it take to travel 440 km?

(A) 4 hours (B) 6 hours (C) 8hours °~ (D) 10 hours

ﬂﬁa;1=ﬁa’t a';]?ﬂrrﬁq—uﬂqal':- 1
(A) 29 (B) 21 (C) V24 (D) TH ¥ ®E 7@l
If agl — 5 then find the value of ﬂ'gl |
(A) 29 (B) 21 © V24 (D)  None of these
4 44 1
7.5 I B 1 (&) (D) 4

8 4 8 8
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What is the value of [-l_%)llﬂ %HI_%NI_%)(I_%NI_%]?

oy ® L1 © o 4
8 4 8 . 8
3 afe =2, —x—2 F1 WA F 82
(A) 0 (B) 2 (C) 4 (D) = 9§ H8 Tl

[f x=-2, then what is the value of —x—27

(A) O (B) 2 (C) 4 (D)  None of these

6. wﬁ%ﬁmwmﬁ%ﬁw%@ﬁﬁmm%‘?

(A) 4 (B) ¥ (C) % (D)
How many straight lines may be drawn from one point to any other point? l
(A) Infimte (B) Zero (C) One (D) Two

7. ﬁ@ﬁﬁﬂﬁﬂ%%la&wm—sg%?ﬁ@n%—

(A) 34 (B) -34 (C) 1352 (D) -132

The sum of two integers is 93. If one integer 1s -59, the other one is—

(A) 34 (B) —34 €y 152 (D) 152

8. wmﬁmﬁmwﬁaﬁﬁaﬁ%%nm@wm?

(A) 12 HeHX (B) 15 HErHET

(C) 18 HHI (D) T ¥ HE T
If one side of an equilateral traingle is 6cm long. Then what will be 1ts perimeter?
(A) 12cm (B) 15¢m

(C) 18c¢m (D) None of these
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10.

Il

12,

13.

0.25 T -

(A) 025 9 921 © (B)
(C) 025 % =N & (D)
The square of 0.25 is—

(A) Greater than 0.25 (B)
(C) equalto0.25 (D)
5 W 20% TTH -

(A) 1 (B) 5

20% of 5 1s equal to —

(A) 1 (B) 5

2 x-2 X2 TN -

(A) 8 (B) -8

2 x -2 x 2 is equal to—

(A) 8 (B) -8

afk 20 =4, x H A ©-

(A) 2 (B) 4

If 2* =4, then the value of x is—

(A) 2 (B) 4
3521 § 3 &1 TG OH B
(A) 3000 (B) 3

Place value of 3 in 3521 is—

(A) 3000 (B) 3

0.25 9 BT &
T4 9 HE JEl

less than 0.25

None of these

(C)

(€)

(C)

(€)

(C)

(€)

(C)

(€)

10

10

1000

1000

(D)

(D)

(D)

(D)

(D)

(D)

(D)

(D)

T G HiE T

None of these

9 9 w1 AL

None of these

9 | g TE

None of these

79 9 HIE @l

None of these
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14,

B 7

16.

EA -

1 8.

6 99 frad T9d & FUE B2
(A) 0.60 (B) 0.06

How many rupees is equal to 6 paisa?

(A) 0.60 (B) 0.06

| feieet SUeR 2-

(C) 0.006

(C) 0.006

(D)

(D)

(A) 1000 feeimma (B) 100 femm (C) 50 e (D)

One quintal 1s equal to—

(A) 1000 kg (B) 100 kg

'i%‘ ch| QHTIA HiH %‘

(A) 3.125 (B) 0.03125

The decimal value of _§_ 15—

(A) 3.125 (B) 0.03125
0.05 + 1.05 ST 7 -
il
(A) 15 (B)
(C) =D (D)
105
0.05 + 1.05 1s equal to —
5
A =2 B)
(A) B (
(C) 5 (D)
105
4 w1 # R et 87
(A) 9000 (B) 8999

How many 4 digit numbers are?

(A) 9000 (B) 8999

Page # 4

(C) 50 kg
(C) 03125
(C) 0.3125

0

1035

i @ F T

0

103

None of these

(C)

(€)

9999

9999

(D)

(D)

(D)

(D)

(D)

60

60

T H ®IE el

None of tLese

31.32

31.32

6304

6304



19.

20.

21.

22

3.003 99T 2.05 T AW B-
(A) 0.995 (B) 0.953

The difference between 0.995 and 2.05 is—
(A) 0.995 (B) 0.953

x T4 y YIS QUi 21 AR x> p B -
(A)» =x>=¥ (B) =a<-y

x and y are positive integers. if x > y, then—

(8) —x>—y (B) -x<-y

4,5 991 7 HT THAH FHYAE F1d
Find the LCM of 4, 5, and 7.

@& HR ;20— [3x— {2x — 2x — 5)}]
Simplify : 2x — [3x— {2x — 2x — 5)}]

(C)

(©)

(€)

(€)

0.992

0.992

_-r:‘;:-y

(D)

(D)

(D)

(D)

0.999

0.999

X<y

Xy
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23, (97)+ (3)* 1 A FreTed
Find the value of (97)* + (3)*.

24, lzmlﬁawwm%}‘

What percent is 12 minutes of 1 hours?
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23,

26.

ISt = <1 0 @1 oUW 3:1:5 ¥ A fYS % waw R $10 % 69 96" 3
Angles of a triangle are in the ratio 3:1:5, then find the smallest angle of the triangle.
g a*b = (-a)+b-(-2) B & 4*3 %1 IH FE F 3

If a*b = (-a)+b-(-2) then find the value of 4*3.
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1.50 T W dfger &1 W 5 st e @1 qed I
1.50 per pencil.

27.
Find the cost of 2 dozen pencils at the rate of Rs.

28, 245 TR w1 Hiet H §5 |

Convert 245 centimeters 1nto meters.
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29. oiF F&I &1 Ed 7 B 9 wyy T §&ANW 2 3R 6 T o a9l §en 7| F:17 3

The average of three numbers is 7. If the first two numbers are 2 and 6, then find the third

number.

30. HEA 31 W T fauw 19y 9emst & 9§ e #6517 3

Express the number 31 as the sum of three odd prime numbers.
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[ @ 9w faem |
| GENERAL KNOWLEDGE AND SCIENCE |

g ;- 1 "eT quTieh :- 50

JTavaes a9
T YYA-HE- AT H el 50 (20 + 20 + 10) WA € W HE: o el § faafea 7 -

W - 1:- 39 @S d 90-1 H GEE I6 9 o 10 9gfasedt 399 Ky e ) v v &
fou | o Tauif 21 wodl @ S & fou < @i fRu o et 9w ¥ udt fowen faa
2 37y forar wvan fawey W fermms 0 afSa 2

a1 - 2 W G 9 4 e 10 gEEe / aferpeiy uve fie e € faeer s@ dateE
Tvd & A R T wm A wfEa w5 € v a & fae 1 ow fuifa R

W -2:-TWESH 9N - | § oW fagm € =9 10 sgfasedt WA fRe T B v
w1 & fau 1 3% Fuifa 21 el & sw % oy grl ol faw T @t afsw | wet A
fora 2, s foram sven fasen W femae w5 afsfa €

qrr - 2 ® g faeE 9 e 10 FEEeS / sfdesEd w9 ke e € e W ogsiE
o & A9 fru e T A sifRd e 8 S 2 % fou fuife dw o wm @ s
ydE W9 & fore 1 7 Fuffa 2

WE - 3 ;- 39 G T GHGEER] § wme <9 w99 f{u MU ) U sgfoweds a9 we
SAfaerEETiE) ToE wv & fau | oF fuife 2 sgfoscda o & 3w & fou =6 SR
few o @l afa o wE fawey fomT 2 aun sifderEedE wwEl & SW % fou gwfud 599
% 9 fru o wE § sifed @ 71 o= faa e ey w fewme o afsia 2

EUHE 37 1 WEUH el 2
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